
 

APPROACH ‐2 

 

Considered 

both positive 

and negative 

impulse loads. 

 



APPROACH ‐1 

Total Pressure = P_Steady State + P_Transient(delta P) 

                          =  6.9E+5  + 4.2E+6 

             = 4.59E+6 N/m2 

Calculation of Total force acts on the elbow = P * A 

               = 4.59E+6  * pi() * (0.3048^2) / 4 

              = 356.8E+3 N 

Considering 90 deg Bend, Resolving force into two directions  

F1= Sin 45 * 356.8E+3 = 0.707 * 356.8E+3 =252.25E+3 N 

F2= Cos 45 * 356.8E+3 =0.707 * 356.8E+3  =252.25E+3 N 

 

 

 

    Difference In forces from approach 1 & 2 =>  304.54 E+3  ‐ 252.2 E+3  = 52340 N 
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